
Short Division Without Remainders
Complete the calculations below.

1. 3 8 1 2. 4 7 2 3. 6 1 7 4

4. 4 2 7 2 5. 8 3 4 4 6. 7 4 3 4

7. 294 ÷ 6 =                         8. 744 ÷ 3 =

9. 1256 ÷ 8 =                       10. 1076 ÷ 4 =
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Short Division Without Remainders

12. 1134 train passengers are given tickets to sit in 9 different carriages. How many passengers 
are in each carriage?  

11. Grandma Jones had £378 which she shared equally between her 7 grandchildren. How 
much money did each grandchild receive?  
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Short Division Without Remainders - Answers

1.	 27

2.	 18

3.	 29

4.	 68

5.	 43

6.	 62

7.	 49

8.	 248

9.	 157

10.	 269

11.	 £54

12.	 126
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